Prepare the Nike, Inc.: Cost of Capital case. Prepare a one-page write-up plus exhibits of the case to turn in. Work with your group to complete this assignment and post only one write-up for the group.

Consider the following issues in your write-up:

1. Do you agree with Joanna Cohen’s WACC calculation? Why or why not? 

2. If you do not agree with Joanna’s analysis, calculate your own WACC for Nike and be ready to justify your assumptions. 

3. What is WACC and why is it important to estimate a company’s cost of capital? 

4. What should Kimi Ford recommend regarding an investment in Nike? 

Consider the following as you analyze this case:

5. Take a look at Exhibit 2 of the case. While we will not get into this material in detail in this course, the exhibit provides a useful illustration of using discounted cash flow analysis to estimate the value of a company. Notice the forecasts of revenue growth, profit margin, taxes, etc. at the top of the exhibit. These drivers are used to project future after-tax operating profit (NOPAT) and then free cash flow (after taking out capital expenditures and investment in working capital. The present value of these free cash flows, discounted at the WACC, provides the estimated value of the company’s assets (Enterprise Value). Recall that Assets = Liabilities + Equity, so taking the value of assets and subtracting the value of debt leaves us with the value of equity. Dividing the estimated value of equity by the number of shares outstanding gives us the estimated value per share. Note that the value at the end of 2011 (Terminal Value) is estimated using the constant growth model. The estimated value of equity per share can be compared to the actual market value to determine whether the stock is under- or over-valued given the assumptions made in the cash flow forecast and WACC estimation. 

6. You probably want to use market values of debt and equity to get their weights in the capital structure. Note from the balance sheet in Exhibit 3 that the current portion of Long-Term debt is $5.4 million and notes payable is $855.3 million. Long-Term debt is $435.9 at book value, but based on the data in Exhibit 4, we can get the market value of the debt as $956 per bond (note the $95.60 price is per $100 of face value), times 439,900 bonds ($439.9 million book value divided by a face value of $1,000 per bond). We can get the value of equity as the share price times the number of shares outstanding. 

7. For the cost of debt, you can solve for the yield-to-maturity on the bonds. The current price per bond is $956, with semi-annual interest of $33.75 and a maturity value of $1,000. The bonds mature in 20 years, or 40 semi-annual periods. 

